PRECALCULUS extra practice Sec. 6~7 Name

- Mod
Bolve the equation on the interval 0 <6 < 2.
1) sin (40) = ——"{——E- 1)
2) descb-3=1 ' ‘ 2)
3 cut[ZB - 125—] =1 A 3)

1)

Solve the equation. Give a general formula for all the solutions.

5 . ;
4) C()S(ZG)‘—‘T 2ILIST 8 SowurioNs Y

Usea calculator to solve the equation on the interval 0 < 6 < 2z, Round the answer to two decimal places.

5) sin 6 =0.48 | 5)
6) tan 8 =5.1 | 6)
7) cosl = -0.62 | 7)

Using a graphing utility, solve the equation on the interval 0 <8 < 2%, Round answer to three decimal places.
#) 2csc=5 : : 8)

Solve the equation on the-interval [0, 2r).
9) Suppose f(x} =2 eos0 + 1. Solve f(x) =0, - a 9)

" 10) Suppose fx) =7 escd - 2. Salve f(x) = 5. ' 10y




PRECALCULUS extra practice Sec. 6-8

Solve the equation on the interval 0 < < 2x. 6
1) cscP0-4descB=0 ( HIT! FACTOR, oUT CSC

2} cos* O+ 2cos0+1=0

3) sin 0 -cos2 0 =0

4) sin(28) +sin6=0

5) cos (28) =42 - cos (20)

6) cos0-sinvf =0

Y]

2)

6)

Use a graphing utility to solve the equation on the interval 0" < x < 360", Exp‘resa. the solution(s) rounded to one decimal

place.
7) tan? x +S5tan x + 3 =0

7)

Use a calculator {o solve the equation on the interval 0 < x < 2rn. Round the answer to one decimal place if necessary.

8) 2x2 -~ 3xsinx =2

8




Answer Key
Testname: PC EXTRA PRACTICE SEC. 6-7

In 7z 1ln 15n
3) —,—,—, and ——
) g g g and—y
T ko, @ =1
4)9-—§+th,9— 3 +kJ1:-

5) 0.50, 2.64

6) 1.38, 4.52

7) 2.24,4.04

8) 0.412,2.730
2n 4xn
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Answer Key
Testname: PC EXTRA PRACTICE SEC. 6-8
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03.1°, 145.1°, 283.1", 325.1°
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